Eonstant, Increasing and Decreasing Functions

LO: The function 0{_()() is

a constant function because as I8
the input x Y\NNEISES from T 10T
—09 w0 T

there is no change in the
function’s corresponding
value , y 1s the same,
does not change, or is constant [y(l{)
all the time. ($)
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Eonstant, Increasing and Decreasing Functions
L

: The function is : @@@3

A from ~N to ~ A 3;%3\
because as the input x increases - . == P
on this jnterval the y value S43a-resas
03 0&71;% The function is 5

j W @W /% from ﬁ% fo Q Decreasing on (-, —2]
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because as the input x increases vt x|
on this interval the y value
WS W s The functlon is
N&Logg from = to UN
because as the input x increases

on this mterval the y value
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. Example Analyzing a Function for

Increasing-Decreasing Behavior

Given g(x) = -Li- Tell the intervals on which g(x) is increasing and the

intervals on which it is decreasing.

(4.7, 4.7 by [-3.1,3.1]

From the graph, we see that g(x) is increasing on (-o,~-1), increasing on

(-1,0], decreasing on [0,1), and decreasing on (1,%).
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AM: Find intervals of increase & decrease

Identify the open intervals on which the function 1s mcreasing or decreasing:

1. f(x)=2x"-12x"+1
@ increasing on (— 00, 0) and {4,0), decreasing on (0,4)
[B] increasing on (2,00); decreasing on (— 0, 2)
[C] increasing on (0,4); decreasing on (— o0, 0) and (4, c0)

[D] increasing on (-— 00, 2)', decreasing on (2,90)

LO: The function is from to because as
the input x increases on this interval the y value ; The
function is from to because as the input
x increases on this interval the y value ; The
function is from to because as the input

x increases on this interval the y value
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Graph it!
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- AM: Find intervals of increase & decrease

1
2. f(x) =<m

[A] increasing on (—o0o,— 2}, decreasing on (—2,00)
[B] increasing on (- 2,0) and (0, 00); decreasing on (—00,—4) and (- 4,-2)
@ increasing on (— 0, — 4) and [— 4, - 2); decreasing on (— 2, 0) and (0, 00)

[D] increasing on (— 4 oo); decreasing on (—- 0o, — 2)

LO: The function is from to because as
the input x increases on this interval the y value ; The
function is from to because as the input
x increases on this interval the y value ; The
function is from to because as the input

x increases on this interval the y value
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. AM: Find intervals of increase & decrease

4. f(x)= 1

 +2x—13

LO: The function is from to because as the
input x on this interval the y value ; The
function is from to because as the input x

on this interval the y value ; The function is

from to because as the input x
on this interval the y value
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